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Explain which chemicals in tobacco smoke affect the development | 3 Starter 2, Main, Plenary 2,
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@ B2 Chapter 1: Health and lifestyle

Summary Questions | 1 Tar — contains chemicals which cause cancer.

Nicotine - addictive and makes the heart beat faster
Carbon monoxide - reduces the amount of oxygen the blood can carry. (3 marks)

2 To remove mucus, as cilia that would normally do this are paralysed by smoking. (2 marks)

3 Two from:
Increased risk of a miscarriage, cause low-birth-weight babies, affects fetal development. Carbon monoxide
in cigarette smoke stops oxygen binding to haemoglobin, so less oxygen reaches baby

4 6 mark question. Example answers:
Heart disease - arteries blocked, prevents blood flowing properly, causes heart attacks or strokes.
Emphysema ~ weakens walls in alveoli/burst, reduces amount of oxygen supplied to blood, person becomes
breathless.
Respiratory infections - cilia paralysed, mucus flows into lungs, makes breathing hard, mucus in lungs
cause infections.
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Deadly smoke (5 min) Interactive resource where students complete agap | Extension: Students suggest  Interactive: Deadly





